[ Efficiency vs vertpos |

efficiency vs vert r

...............................

.................................................

Ratio

0.954

1072

L)

D

— D
Efficiend g

0

-I-.-I-
P
I 4|14 JERSS
1_. "w =41 -
B T4 L1 |- -
1 0 -
107 1

o

©
3

efficiency vs vert z
© © o o o
N (o8] iy [6)] [e)]

©
i

Ratio
&

093520 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.8

efficiency vs Sim. PV
© © o o
D (] [e2] ~!

o
&)

B T O O T

H%N“""wq _____

0.2F
0.1
o +BF
% L
d

=

095515 -10 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


